Triangles Measurements (A)

Calculate the missing measurements for each triangle.
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Triangles Measurements (A) Answers

Calculate the missing measurements for each triangle.

3.2 in 2. 10.4 mi
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P = 15.8 in
A = 9.44 in®
P = 51.2 mi
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Triangles Measurements (B)
Calculate the missing measurements for each triangle
L. 4.4 AU 2.
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P =411t
P =411 AU A=7ft
A =7 AU?
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P =348 cm
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Triangles Measurements (B) Answers

Calculate the missing measurements for each triangle.

4.4 AU 2.
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P =141 ft
P =41.1 AU A = 72 ft?
A = 39.82 AU?
5.1 yd 4. 17.3 cm
=
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P =549 cm
P =241 yd A =128.02 cm?
A = 22.44 yd?
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P =348 cm
A = 51.895 cm?
P =734 nm

A = 230.945 nm?

Math-Drills.com




Triangles Measurements (C)

Calculate the missing measurements for each triangle.

1.4 km 2. 12.7 mm
T 7/
> g ©
S ION : ¢§
oy A
q‘;D
P =85 km
A = ? km? P = 55.1 mm

A = ? mm?

2.5 AU 4. 9.2 mi
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*70 o~ \«
P =26.7 mi
P =107 AU A =7 mi*
A =7 AU?
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A =7 in?
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Triangles Measurements (C) Answers

Calculate the missing measurements for each triangle.

1.4 km 2. 12.7 mm
T 7/
w g —
N
| /5 | E
s} N
5 &
P =85 km
A = 2.38 km? P = 55.1 mm
A = 122.555 mm?
2.5 AU 4. 9.2 mi
N U
- o
w .
3 < o
o N B, <
P = 26.7 mi
P =10.7 AU A = 28.98 mi?
A = 4.625 AU?
13.6 m 0.
g
1 S
47 m e - @9
P =316 m 5 $
A = 26.52 m?
4.5 in
P =149 in
A = 9.45 in?

Math-Drills.com




Triangles Measurements (D)

Calculate the missing measurements for each triangle.

5.5 cm
N

7 cm

V
v
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B

P =343 cm
A =7 cm?

p£

4.3 yd

P =13.7yd
A =7 yd®
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@“‘&
K

9.5 mm

?7 mm

P =39.3 mm
A =7 mm?

9.8 AU
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nv ¢

W »

P =259 AU
A =7 AU?

wo 861
&

3

18.8 ft

P=5771t
A =7 ft?
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Triangles Measurements (D) Answers

Calculate the missing measurements for each triangle.

5.5 cm

\ O

13.9 cm

V
v
0
o
@

P=34.3cm
A = 38.225 cm?

pALe

4.3 yd

P =13.7yd
A = 7.955 yd?

<>
@“‘&
K

9.5 mm

13.4 mm

P =39.3 mm
A = 63.65 mm?

2. 9.8 AU
[]
- S
é W >
P =259 AU
A = 24.99 AU?
4.
- 2
c o,
o %
=
19.1 cm
P = 66.4 cm
A = 189.09 cm?
6.
= N
18.8 ft
P=57.71t
A = 140.06 ft2
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Triangles Measurements (E)

Calculate the missing measurements for each triangle.

2.
N Ay =
o EE o b
W o =
[l [] N
2.5 mi Lt
P — 11.4 mi b=2rtt
A =7 mi® A=Tt
@6‘ g 4.
od g
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v bt
—~ ®
7 mm o %70
P=16.1 mm =
A = ? mm?
13.1 AU
P =45.1 AU
A =7 AU?
6.
X
1 &£
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% o p
wo )
=
? 1t
P=3511t
A=7ft? ? in
P=64.11in
A =7 in?

Math-Drills.com




Triangles Measurements (E) Answers

Calculate the missing measurements for each triangle.

2.
N _ Qo -
Of g \O) f:
/o []
P 8.1 ft
.0 1M1
. P = 27 ft
i _ éléfr;ig A = 31.185 ft?
& g 4
o g
0
= 7
= (e%
5.8 mm 3 ';40
P — 16.1 mm Z
A = 10.15 mm?
13.1 AU
P =45.1 AU
A = 87.115 AU?
6.
f{&
1 &
AN
% > 95.}.
o 7
”
12.1 ft
P =351 ft
A = 50.215 ft2 211 in
P = 64.1 in

A = 171.965 in®
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Triangles Measurements (F)

Calculate the missing measurements for each triangle.

2.
S
g
{b'\%b 4 ‘7:9'% E
q) =2 o~
2
21.4 yd
? vd P = 61.1 yd
P = 55.4 yd A=7yd
A =7 yd?
4.
6\
()
© g
\E’}’\N
qi\‘?»
20.8 cm
P =62.6 cm
A=7cm?
? km
P = 65.6 km
A =7 km?
2.9 in 6. ? vd
= : D
¥ a = <
6;0' = A q)%c-b
P =11.1in P'=64.6 yd
A =7 in? A=17yd
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Triangles Measurements (F) Answers

Calculate the missing measurements for each triangle.

2.
& <
g
O =4 0® i
=
21.4 yd
184 yd P =61.1yd
P = 55.4 yd A = 150.87 yd?
A = 127.88 yd?
4.
& g
‘LQ"X =
g =
20.8 cm
P =62.6 cm
A = 163.28 cm?
18.6 km
P = 65.6 km
A = 184.14 km?
2.9 in 6. 20.7 yd
g 3
- = >
% 3 2 o7
P=11.1in P = 64.6 yd
A = 5.22 in2 A = 176.985 yd?
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Triangles Measurements (G)

Calculate the missing measurements for each triangle.

7?7 m

<
8.8 m

2.

o Z°0¢
“

P =658 cm
A =7? cm?

7 ft

P =109 ft
A =7 ft?

L T[]
1.5 ft

00 %6
o &
E
7 cm
P =39.2 cm
A =7 cm?
<0
- '8de
(=
(oW
? yd
P = 48.8 yd
A=7 yd2
o g
—
E. 2.
L1
1.1 mi
P=92mi
A = ? mi®
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Triangles Measurements (G) Answers

Calculate the missing measurements for each triangle.

8.2 m 2
% 6
5 3 %
< 0 -
02 [o'e}
14.1 cm
P=29m P =392 cm
A = 36.08 m? A = 60.63 cm?
18.3 cm 4 - 208
=~ Jq
<
(oW
S 18.6 vd
o & Y
< o> P =488 yd
v A = 87.42 yd?
P =65.8 cm
A = 184.83 cm?
4.6 ft 0.
0
5
P — 10.9 ft = \&
A = 3.45 ft?
(1
1.1 mi
P =92mi
A = 2.2 mi®
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Triangles Measurements (H)

Calculate the missing measurements for each triangle.

? mi 2.

LA
R

P = 28 mi
A = ? mi®
14.8 1t
P = 56.6 {t
A =7 ft?
14.2 AU 4.
G
N = SV
YYO\ e
L[]
6.6 yd
P = 56.7 AU
A =7 yd®
11.1 mm 6
Ve
o v?/
2. g
"Dcs‘ =
?Q o 7.9 mm
P =292 mm
A = ? mm?
P =532 mm

A = ? mm?
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Triangles Measurements (H) Answers

Calculate the missing measurements for each triangle.

10.4 mi 2.
o
-~ &\
= %
P =28 mi -
A = 29.64 mi?
14.8 ft
P = 56.6 ft
A = 135.42 ft?
14.2 AU 4,
T o)
g
2 = ~ <
%% o N 5]
vy 0
O\ A
[ [
6.6 yd
P =56.7 AU
A = 134.19 AU? P =484 yd ,
A =67.32 yd
11.1 mm 6
o Vg
b N
=
R g
< ©
?Q S 7.9 mm
P =292 mm
A = 36.34 mm?
P =53.2 mm

A = 108.78 mm?
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Triangles Measurements (I)

Calculate the missing measurements for each triangle.

2.

%

7.6 km

P =28 km
A = ? km?

? km

P=125mi
A = ? mi®

6
7 mm

11.1 mm

P =446 mm
A = ? mm?

3.5 mi

14.7 nm

&, "b

P =449 nm
A = ? nm?

nm

?

14.7 mi

7 mi

P =681 mi
A = ? mi®
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Triangles Measurements (I) Answers

Calculate the missing measurements for each triangle.

14.7 mi

2. 14.7 nm
&
O £ =
> o ]df»J 2
]j& -
7.6 km P =449 nm
P = 28 km A = 84.525 nm?
A = 33.44 km?
3.8 mi 4. 7.8 cm
T/
& a N
.9%. : g Ny
P =33.7 cm
P =125 mi A = 46.02 cm?
A = 6.65 mi?
6.
b&@ é q)%ﬂ @',x
N g
/o []
11.1 mm 24.7 mi
P =44.6 mm P =681 mi
A = 181.545 mi?

A = 82.695 mm?

Math-Drills.com




Triangles Measurements (J)

Calculate the missing measurements for each triangle.

? nm 2.
K :5;,)
- 5 %
§ 4
!
3.0m
P=126m
P =54 nm A =2 m2
A = ? nm?
4. 16.2 km
z
< 3o .
5. /O o S
= Q@ﬁ
CL
11.9 in P =49.3 km
P = 36.6 in A =7 km®
A =7 in?
19.9 mi 6. ?m
-
) o Y
5 \S = N
=8 rﬂﬂ A
P=248m
P = 535 mi A=7m?
A = ? mi®
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Triangles Measurements (J) Answers

Calculate the missing measurements for each triangle.

14.6 nm 2.
= S
< o 5 \
5 o
q)
3.5 m
P=126m
P'= 54 nm A = 6.825 m?
A = 124.1 nm?
4- 16.2 km
© % —
Ut jO NJ
=) ;‘ ‘3\&\
= NR
11.9 in P = 49.3 km
P = 36.6 in A = 102.06 km?
A = 56.525 in?
19.9 mi 6. 98 m
= .
w
5. fﬂﬂ
P=248m
P = 53.5 mi A = 21.07 m?

A = 108.455 mi?
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